Dividing a Multiple-Digit Number with a 1-Digit Number
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Division with Remainders
Example 1

Complete the following equation: 243 + 5 =

o Explanation

Step 1: Divide the hundreds.

5)243

Since 2 < 5, move to Step 2.

Step 2: Divide the tens.
4
5)243
-2

4

Step 3: Divide the ones.
43
5)2453 ( Bring down the ones. )
- 20y
a3
- 40
"3

. So,243 +5is 48 R3.

Complete the following equation: 542 + 5 =

° Explanation

Step 1: Divide the hundreds.

1
5)542

g

5l

Step 2: Divide the tens.

10
)5‘5‘2 ( Bring down the tens. )
-5y
a

Since 4 < 5, move to Step 3. Qh
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Step 3: Divide the ones.
108
3 542 [ Bring down the ones. ]

-4
2

So, 542 + 5 is 108 R2.
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